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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Assignment

Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Algebra 1
Assignment
Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.
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Solve each inequality and graph its solution.

1) —6(x +4.17)>81.179

&—1

1\

>
-22 =21 -20 -19 -18 -17 -16 -15

5) 8.59(-8.3 + X) < 22.333

g

v

&—1 1 1
S T T
6 7 8

7) 1.245>-4.6x—8

A\ 4

D A A A ?
S+v
9) <0.333
6

\—IZ —Il 0 1 i’
11) 1.18b - 0.3 < 18.473

N 13 1:4 15 i’

b-74

13) -3.181>

Name

ID: 9

Date

Vv
2) 435+—>-0.493
3.84

N -22 I -20 I —16 I —14/
0.84+n
4) —4.23>
2.6

D PO P PR PR S A
6) —103.5>-6.9(1.2 + x)

N 1I0 lll 1I2 1I4 1I5 -

b
8) -9 +—>-7.819
9.4
N 9 1I0 1I2 1I3 4
—-49 + X
10) <-3.725
4
\—12 —il -10 —IS —I7 -
k—9.8

12) —-3.202 >

S0 1o 15 17 16 15 12 13 12
14) 0.8r—2.7>0.739

A : : g

Period



Algebra 1
Assignment

Solve each inequality and graph its solution.

1) —6(x +4.17)>81.179
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Algebra 1
Assignment

Solve each inequality and graph its solution.

1) 54.068 >-7.2 - 5.78m

&—1 1 1
S T T
-14 -13 -12

3) 3.4>3.4(x+0.6)

A\ 4

&—1
N

5) 12.77<3.8-2.3v

A\ 4

-5 -4 -3 -2 -l

n
7) — +7.126.145
8.8

&—1

A\ 4

-2.34 + X
—<

9
) 9.1

&—1

>
13 12 -11 -10 -9 -8 -7 -6 -5

<-2.29

11) 21.13>1-6.1x

A\ 4

Mttt
22 21 20 -19 -18 -17 -16

A\ 4

A\ 4

Name

ID: 10

Date

Period

a
2) -8.115<-7.84 + —
6.4

S s 4 3 2 10 1 2 3
k
4) 5497 >4.1+—
8.8
& t —
8 9 10 11 12 13 14
6) —6.84>0.6 +1.2b
9 8 7 6 -5 -4 -3 -2
8) 8.14+£<7.64
8.8
S8 7 6 -5 4 -3 =2
10) 3.6 — 0.6x>13.68
D PO PR I PR P P PR P
523 +v
12) < 1.605
9.8
N 7 8 9 IIO 11 12 13 1I4/
-34+X
14) 2418 > ———

11 12 13 14 15

16



Algebra 1
Assignment
Solve each inequality and graph its solution.

1) 54.068 >-7.2 - 5.78m
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